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Gauss's Law@
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Gauss Law in Mathematics Lti'sA#-
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explain why this is true.
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Te use GDT : SSS = SS
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se we need a -solid W
whose boundary is our surface S .
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Direct computation !
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(d) Case when P is inside S
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÷÷i÷÷÷:
T

cheese E small enough so thatta

ball Beep) is still inside & S
,

Let T = boundary of Peeps ,
Then : Sgs ¥

'

see
•

ready if W is the seed
r

-between S & T their
_-a-

Fp vs defined an
W :

Fp only has problem
at{ p and P is udi!

Then
.

-

sswT#d8=§w*p - ess

@ = SS 0dB GOT
apprises

so , W -

→

@ = S = § - § .
So :

ow

ow -- t g - g-
orientations:
explainer



§ Fp - def ¥7 § Fp - D8 = Get
.

-

Done with GLM !-
GLP



Gauss Law in Puyisees (GLD)
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• The f#¥wy of an
eccentric fields F through a{ GITES siegeeds then

41T - total electric change C inside S.
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